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r];eﬁne Sociology of Education.

| What is meant by Scciology of Politics?

Define Sociology of Economics.

What is meant by Probation Officer?

Describe the role of Sociologist in solving Social Problems.
Write down the role of Sociologist in the field of Health.
{ What is the rule af Sociology in Agriculture?

Werite two elements of Social Action.

Define Secondary Group.

Define Local Group.

Write two characteristics of Primary Group.

Define Symbolic Interaction.

Define Role.

What is Achieved Status?

Give two examples of Ascribed Status.

 Define Social Norms.

What is Folkways?

| Write four functions of Sanctions.
Define Positive Sanctions.

Define Deviance.

Write four steps for Social Control.
What are Values?

. Define Evolution,

What is Urban Society?

Write two characteristics of Culture.
What is meant by Cultural Uniformity?
Define Acculturation.

Define Bthnocentrisi.

What is meant by Cultural Relativism?

What is meant by Soctal instifution?

Define Family.
Differentiate between Patriarchal Family and Matriarchal Family.

What is meant by Formal Education?

&Define Religious Institution.

BWriie two characteristics of Social Institutions.
I Write the types of Vertical Mobility.

What is meant by Territorial Mobility?

! ) L
10 Write the application of Sociclogy in Daily Life.

, %0 Explain the types of Social Sanctions with examples.

110 Write down the merits and demerits of Fthnocentrism in Society.

]
110 Describe functions of Religious Institutions in detail.
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Define Social Interaction and differentiate between Social Interaction and Social Acon.
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